2 Parallel Lines
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FOM 11: Ch 2 Geometry Day 2: Parallel Lines

atical tragedy: two|parallel lines
fall in love

The love shared by Parallel Lines......
..... is a sweet, sarcastic one...

I could stay by your side forever

Ms. Kamber
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Relationships betw)ee{nghes and Lines

Transversal 5 G [ 1ve +H£oAf
infersects(crosse)

92 of e [ 1

' — / hNS 'l’/\ﬂl"
SymLol- 1L - / Never meest

A

Parallel Lines

Perpendicular Lines

Fljmbo/f L Aiﬁb

Corresponding angles / Z ’5 m e Sam
/b relehrve pla.c
. l‘“ (
T T
Alt7nate interior angles on opp.
i Sidesd
on opfosﬂc. St M Hransveesal,
sidos of et beth 1hyide
Framsveral L e 2 lines
Alternate exterior angles /
a
i-** g\l‘l #‘ /
2_ l| yd
/ Vfr-“'l C«Ij
@terlor angles on the / opp-
m@de of the 7 4
ransversal (LSS T) L X b

Example 1: From the diagram, identify pairs of: .‘ .
A) Corresponding angles: £ 4 -L[S’,LZJ-ZC/Zs .
B) Alternate interior angles: /3¢ b, LY
C) Alternate exterior angles: 4/4,1 2 4CF
D) Interior angles on the Same Side of theTransversal:

{348, L9426

7, ¢94¢0
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/

If two lines are parallel, then:

+ Corresponding angles are Loua [ (“Equal” also means c g Mrugnt )

e Alternate interior angles are _e

e Alternate exterior angles are 1% 2
e Interior angles on the same side of the transversal are S« M
In ang same sid tr B) pp/-{Mm

So to prove that 2 lines are let_zj , you need to show any of the aL‘N !

Example 2: Given that the horizontal lines are parallel and that angle 1 is equal to
130°, find the measurement of the other missing angles.
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£ 3 “Can more than one angle relationship be used to find the measure of some of the
angles? Explain using an example. / I
Yes I

Example 3: Find each indicated angle. For each one, state the reason:

L= 3010’ -00"
—§0° Z'sonalim

22<Y0" yerhualy opp. L2= )oo® o 2%

Assignment:
“Why did Orgo iron his 4-leaf clover?” (CC-12)
“What is unusual about the new surgeon doll? (CC-13)
- Make up your own question involving ISST angles and solve it.
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